hLjg ljsf; ;dfh 
s^x/L, df]/é
h"lgo/ ;xfos kbsf] nflu k|ltof]lutfTds lnlvt k/LIff-gd'gf_
k|yd kq

;doM 30 ldg]^                     kÚ)ff{°M 25
tnsf ;DkÚ)f{ k|Zgx?sf] ;+If]kdf pQ/ lbgÚxf];\ . ;a} k|Zgx?sf] c+s ;dfg %g\ .

1= hLjg ljsf; ;dfhsf] :yfkgf slxn] / sxFf ePsf] xf] <
pQ/M
2= INGO sf] kÚ/f ?k n]VgÚxf]’;\ . 

pQ/M

3= l*h]n O{lGhgsf cfljisf/s sf] x"g <
pQ/M

4= ^fO{lk:^ = ^fO{k/fO{^/ eP em}+ n]vssf] s] <
pQ/M

5= olb ASK sf] sf]* ZRJ xf] eg] ANSWER sf] sf]* s] x"G% <
pQ/M

6= xfn ;Dd s"g lhNnfnfO{ sDn/L d"Qm lhNnf #f]ifgf ul/Psf] % <
pQ/M

7= ljB"tsf lktf eg]/ s;nfO{ lrlgG% <
pQ/M

8= cWof/f] dxfb]z eGgfn] sÚg dxfb]znfO{ aÚlemG% <

pQ/M

9= Pepanipel ;xL zAb agfpg"xf];\ .
pQ/M

10= ;"of]{bosf] b]z eGgfn] s"g /fi^«nfO{ hgfp¤% <
pQ/M

11= g]kfndf slxn]af^ gful/stf lbg yflnPsf] xf] <
pQ/M

12= lxGb" wd{df slt j^f j]b %g\ <
pQ/M

13= ?= 1000 kg]{ d]l;gsf] d"Nodf k|ltjif{ 25 k|ltzt x|f; s§f ubf{ Ps jif{ kl% ;f] d]l;gsf] d"No slt x"G% <

pQ/M

14= Pp^f ;^{ ;ÚSgsf nflu 2 #)^f ;do nfUb% eg] 5 j^f ;^{ ;ÚSg slt ;do nfUb% <

pQ/M

15= olb 35 j^f sndsf] d"No ?= 420 k%{ eg] ?= 432 df sltj^f snd lsGg ;lsG% < 

pQ/M

16= Tof] s"g ;+Vof xf] h;sf] 60 k|ltztt af^ 60 #^fpbf 60 g} x"G% <
pQ/M

17= Pp^f /]nnfO{ 600 dfOn k|lt#)^fsf] b/n] bf}*bf 400 dfOnsf] b"/L kf/ ug{ slt ;do nfU% <

pQ/M

18= ;+ljwfg ;efaf^ ;+ljwfg kfpg] g]kfn slt cf}+ /fi^« xf] <
pQ/M

19= lbO{Psf] lrqnfO{ c+u|]hLdf s] elgG% < 
pQ/M

20= ljZjsf] ;j} eGbf &Únf] r/fsf] gfd s] xf] <

pQ/M

21= 7 j^} dxfb]zsf] ;jf]{Rr lzv/sf] ;kmn cf/f]xg ug]{ klxnf] g]kfnL dlxnf sf] x"g\ <
pQ/M

22= lbg / /ft a/fa/ ePsf] cj:yfnfO{ s] elgG% <
pQ/M

23= sDKo"^/sf] g]kfnL gfd s] xf] < 

pQ/M

24= ljZjsf] ;j}eGbf cUnf] :yfgdf /x]sf] tfn s"g xf] <

pQ/M

25= g]kfndf klxnf] k^s ljBfjfl/lw (Ph.D) ug]{ dlxnf sf] x"g <
pQ/M

hLjg ljsf; ;dfh

s^x/L, df]/é

h"lgo/ ;xfos kbsf] nflu k|ltof]lutfTds lnlvt k/LIff -gd'gf_
lålto kq  

;doM1 #)^f 30 ldg]^                   
kÚ)ff{°M 50
tnsf k|Zgx? dWo] ;d"x "s" af^ s"g} 1 / ;d"x "v" af^ s"g} 4 j^f k|Zgsf] pQ/ lbg" xf];\ 

;dÚx æsÆ






s"g} 1 j^f k|Zgx?sf] pQ/ lbg"xf];\                                1 x  10
1=
æb]z ljsf;sf nflu u|fld)f ljsf; ckl/xfo{ %Æ AofVof ugÚ{xf];\ .
2=
;zlQms/)f eg]sf] s] xf] < n#Ú ljQ sfo{qmdn] dlxnf ;zlQms/)fdf v]n]sf] eÚldsfsf] rrf{ ugÚ{xf];\ .
;dÚx ævÆ

s"g} 4 j^f k|Zgx?sf] pQ/ lbg"xf];\ 

                        
4 x  10
3=
æn#Ú ljQsf sd{rf/Ln] ;b:osf] #/df l;Q}df lrof ;d]t vfg xÚb}gÆ sf/)f ;lxt AofVof ugÚ{xf];\ .

4=
uLtfnfO{ ?=12000 C)F nufgL u/]sf] 14 lbgdf 24 k|ltzt Jofhb/n] Jofh slt x"G% <
5=
s_ g]kfnsf ljsf; IF]qx?sf] gfd k"j{ b]lv klZrt ;Dd qmdzM c+u|]hLdf pNn]v ug"{xf];\ .
     v_ bz j^f uf=lj=;=x?sf] gfd c+u|]hLdf pNn]v ug"{xf];\ .
6=
Psf]xf]/f] n]vf k|)FfnL / bf]xf]/f] n]vf k|)FfnLsf] af/]df k|i^ kfg{Úxf];\ .
7=
5 hgf ljBfyL{sf] cf}ift pd]/ 9 jif{ % . To; dWo] 4 hgfsf] pd]/ 5, 7 , 8 / 15 jif{ eP kfrf}+ ljBfyL{sf] pd]/ slt xf]nf <













